:85~264V
:50/60HZ
1:12VDC
DA
CORE
CORE ,  CORE , 100KHz,
CORE. TDK PQ2620 PC4 Ui=2300Nh Ae=119mm?

Bs=380mT(100 ) Br=140mT(23 )

Pout

lav=
N*Vin  min

Vin min =90V*~/2-20

=110 V

- Vout 12V 1=80~85%
Vout 12V N=75-80%

N=80%
60
lav= =0.68 A
0. 8*110




2 lav

Ipk=
(1+k)*Dmax
Ip2 P 40W K=0.5e~0.6
k=
Ipl P 40W K=0.35~0.45
A
Ip2 x Ip1
A 4 A 4
(CCM) (DCM)
CCM--- Lt nt Emc
DCM--—- Ll n{ Emc
2*0.68
Ipk= ——— =192 A
(1+0.55)*.45
Vin(min) Dmax
Lp=
Ip-f
Dmax=0.4~0.5 Dmax=0.45
f=62KHz
110*0.45
Lp= <H>=0.423mH =423uH

1.95*60*10°



Lp*Ip Vin « Ton

Np= —— = *10°
Ae B B« Ae
1
Ton= —  * 045 =7.5us
60*10°
Ae----
B---- 2000~2500 , B=2250
110*7.5
Np= * 10* =30.8(TS) 31TS
2250*1.19

Vin(min) « Ns « Dam=(Mo+Vp)- Np « (1-Dam)

(Vo+Vp)-Np - (1-Dam) (12+0.5)*31*0.55
Ns= = =4.3(Ts)
Vin(min) « Dmax 110*0.45
Ns= 5Ts
Vin(min) Ns Dmax 110*5*0.45
Np: = =36
(Mo+Vp) - Np - (1-Dam) 12.5*0.55
Np Ae B
Lp= *10™ uH

IPK



36*119*2250
= *10™* Uh=500<uH>

1.95
Nb
(Vo+Vp)  NB=(Vb+VD)Ns Vb+Vp
Nb= Ns
12.5*Nb=16.7*5 \Vo+Vb
Nb=6.68Ts Nb=7Ts
Np:Ns:Nb=36:5:7 Lp=500uH
Irms

Irms=Ipk Vpmax  (Krp2/3-Krp+1) (Irms=Ipk/~/6)

Kpp---- 0.6< >, 1.0< >
Krp=0.92 Irms=1.95//6=0.8A
Ispk

Np  Ipk=Ns Ispk

Ispk=1.95*36/5=14(A)

Isrms=Ispk  V(omay ~ Krp?/3-Krp+1)
9(Isrms=Ispk/~/6)

Isems=14/~/6=5.75(A)




